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Division without remainders
[image: ]

image4.png
| question

VI start at the red dot and travel 1 up.
Where do | end up?

Write answer in correct format e.g. (2,5)
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[ question

'I start at the red dot and travel 2 to the right and 3 up. ;A ]
Where do | end up? Y o
Write answer in correct format e.g. (2,5) : B
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[ Question

Where do | end up?

Write answer in correct format e.g. (2,5)
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'I start at the red dot and travel 5 right and 3 up.
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[ question

Where do | end up?

Write answer in correct format e.g. (2,5)
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rI start at the red dot and travel 3 down and 3 left.

[~answer ]

P
Answer

— X
9_

8l L

7_

6_

5—

a4}

3.—

2—

]—l | I I O I O N . |
T 23 45678 9





image8.png
'I start at the red dot and travel 5 right and 6 down
Where do | end up?

Write answer in correct format e.g. (2,5)
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[ question J

VI start at the red dot and travel 2 left, 3 down and 1
right.

Where do | end up?

Write answer in correct format e.g. (2,5)
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[ uestion

VI start at the red dot and travel 1 right, 3 up, 3 right, 2 ]
down

Where do | end up?

Write answer in correct format e.g. (2,5)
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12 Times Table Multiplication
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Name: DIViSiOD no remainders
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Working Mathematically

1) 4 seagulls decided to share 36 chips equally. How w ‘ ‘ ‘

many did they each receive?

2) 3 children collected | Foey found 75| Filipo found 32 |Hong An found 16

shells together:

@ \@ They put all the shells together then shared them equally.
\

How many will they each get? C\wl/ §

3) There are 150 fish in a large tank. There are equal numbers of
blue, red and purple fish. How many blue fish are there?

4) 186 chairs are stacked in groups of 6 each.
How many groups are there?

5) 182 Marchers marched in 7 rows. How many in each row?
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| Question

Where do | end up?

Write answer in correct format e.g. (2,5)
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| start at the red dot and travel two to the right.
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[ question

'I start at the red dot and travel 3 down.
Where do | end up?

Write answer in correct format e.g. (2,5)
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~ queston

Where do | end up?

Write answer in correct format e.g. (2,5)
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rI start at the red dot and travel 5 to the right.
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